
©X 92w0w1d3j EKYuRtMaw 3SGoxfotTw2aCrRet VLkL5Cd.t Y SAIldll UrRiIg4hftKsZ Wrwe3s3eornvye6db.y h pMaaddReK UwwirtHhb MI lndffiknVigt0eG yADltgKeTbprnaH u1e.D Worksheet by Kuta Software LLC

 
ID: 1

Name___________________________________

  Period____Date________________
©8 V2q041l3U 9Kuu4t1ai VSgoWf rtFw5airSek RLXL1Cn.1 D 3ARlEl T 8rdi NguhKtlsg ar6ePs0eJr8vKegde.Q

Find each product.

1)  

 

7(

 

6

  

x − 3) 2)  

 

7

  

v(

 

6

  

v + 6)

3)  

 

8(

   

n − 6) 4)  

 

8(

 

4

  

n + 7)

5)  

 

2(

 

5

  

x − 5) 6)  

 

7

  

a2(

 

5

  

a + 7)

7)  

 

6(

 

3

  

x − 2) 8)  

 

3(

 

2

  

n + 8)

9)  

 

4

  

b(

 

5

  

b + 7) 10)  

 

6

  

k(

 

8

  

k + 8)

-1-



©s f2Y0E1g3h xKFuKtea7 4SjowfIt6wPatrket TLxLECH.O o vAUlwlL UrWiAg5hbt9si ZrgeJsGeArWvTeyd0.Q Z qMmard5eR FwPiatnhy wI OnXfLiAnWi1tbeL OAjlygBe1bsrxaR m1a.R Worksheet by Kuta Software LLC

11)  

 

(

 

3

  

x + 8)(

 

7

  

x + 3) 12)  

 

(

 

3

  

n − 1)(

 

4

  

n − 1)

13)  

 

(

 

8

  

v + 1)(

 

2

  

v + 1) 14)  

 

(

 

7

  

x + 6)(

 

4

  

x + 5)

15)  

 

(

 

7

  

r − 3)(

 

7

  

r + 2) 16)  

 

(

 

6

  

b − 4)(

   

b − 5)

17)  

 

(

 

5

  

p − 8)(

 

6

  

p − 7) 18)  

 

(

 

4

  

m − 8)(

   

m + 5)

19)  

 

(

 

2

  

k + 4)(

 

3

  

k − 5) 20)  

 

(

   

n − 6)(

 

3

  

n + 1)

-2-



©b j2z0m1D3s jKLu8tRaw zS9oRf6tMwSaJroeo SLVLZC3.p u QAOlOlb 9rniygKhqtMsP kr3eVsUeirPvieXdY.O N QMJaRdkeO cwkiztyhG dI RnufuiLniictAeF yAIlRgiecbtraa0 R1d.X Worksheet by Kuta Software LLC-3-

Answers to  (ID: 1)

1)  

 

42

  

x − 21 2)  

 

42

  

v2 + 42

  

v 3)  

 

8

  

n − 48 4)  

 

32

  

n + 56
5)  

 

10

  

x − 10 6)  

 

35

  

a3 + 49

  

a2 7)  

 

18

  

x − 12 8)  

 

6

  

n + 24
9)  

 

20

  

b2 + 28

  

b 10)  

 

48

  

k2 + 48

  

k 11)  

 

21

  

x2 + 65

  

x + 24 12)  

 

12

  

n2 − 7

  

n + 1
13)  

 

16

  

v2 + 10

  

v + 1 14)  

 

28

  

x2 + 59

  

x + 30 15)  

 

49

  

r2 − 7

  

r − 6 16)  

 

6

  

b2 − 34

  

b + 20
17)  

 

30

  

p2 − 83

  

p + 56 18)  

 

4

  

m2 + 12

  

m − 40 19)  

 

6

  

k2 + 2

  

k − 20 20)  

 

3

  

n2 − 17

  

n − 6


